RRAL I/ —FRICRHA o [

PVDF/TO < @E—

ZHR R Size (mm)

Part Number M DK H

05000T030050004 M3 x4 7.88 5.2 0.9
05000T030050005 M3x5 7.88 5.2 0.9
05000T030050006 M3x6 7.88 5.2 0.9
05000T030030008 M3x8 7.88 5.2 0.9
05000T030050010 M3x10 7.88 5.2 0.9
05000T030050012 M3x12 7.88 5.2 0.9
05000T030050016 M3x16 7.88 5.2 0.9
05000T030050020 M3x20 7.88 5.2 0.9
05000T030050025 M3x25 7.88 5.2 0.9
05000T040070004 M4 x4 9.77 7.11 1.02
05000T040070006 M4x6 9.77 7.11 1.02
05000T040070008 M4x8 9.77 7.11 1.02
05000T040070010 M4x10 9.77 7.11 1.02
05000T040070012 M4x12 9.77 7.11 1.02
05000T040070016 M4x16 9.77 7.11 1.02
05000T040070020 M4x20 9.77 7.11 1.02
05000T040070025 M4x25 9.77 7.11 1.02
05000T040070030 M4x30 9.77 7.11 1.02
05000T050080004 M5x4 9.99 7.75 11
05000T050080006 M5x6 9.99 7.75 11
05000T050080008 M5x8 9.99 7.75 11
05000T050080010 M5x10 9.99 7.75 11
05000T050080012 M5x12 9.99 7.75 11
05000T050080016 M5x16 9.99 7.75 11
05000T050080020 M5x20 9.99 7.75 11
05000T050080025 M5x25 9.99 7.75 11
05000T050080030 M5x30 9.99 7.75 11
05000T050080035 M5x35 9.99 7.75 11
05000T060100006 M6x6 12.21 7.75 114
05000T060100008 M6x8 12.21 7.75 114
05000T060100010 M6x10 12.21 7.75 114
05000T060100012 M6x12 12.21 7.75 114
05000T060100016 M6x16 12.21 7.75 114
05000T060100020 M6x20 12.21 7.75 114
05000T060100025 M6x25 12.21 7.75 114
05000T060100030 M6x30 12.21 7.75 114
05000T060100035 M6x35 12.21 7.75 114
05000T060100040 M6x40 12.21 7.75 114
05000T060100045 M6x45 12.21 7.75 114
05000T060100050 M6x50 12.21 7.75 114
05000T060100060 M6x60 12.21 7.75 114
05000T080125020 M8x20 16.76 9.62 15
05000T080125025 M8x25 16.76 9.62 15
05000T080125030 M8x30 16.76 9.62 15
05000T080125035 M8x 35 16.76 9.62 15
05000T080125040 M8x40 16.76 9.62 15
05000T080125045 M8x45 16.76 9.62 15
05000T080125050 M8x50 16.76 9.62 15
05000T080125060 M8x60 16.76 9.62 15
05000T080125065 M8x65 16.76 9.62 15
05000T080125070 M8x70 16.76 9.62 15
05000T080125080 M8x80 16.76 9.62 15
05000T080125090 M8x90 16.76 9.62 15
05000T080125100 M8x100 16.76 9.62 15

hr#EFr A BIENLASE



	Sheet3

